



5

Vendor Ranking

Call Order: 001

Page 1 of 1

231.72%

Letting: 03221117 November 17, 2022 02:00

Contract:

E3W51-R0

\$1,119,980.01

District: District 3

Counties: DIST/ST-WIDE, LEON

Fed Aid No: N/A

Contract Time: 12/31/23 COMPLETION DATE

PM

AJ GENERAL CONSTRUCTION SERVICES, INC.

Project(s): 42378147205 (*)

Contract Desc: BDI PROJECT - URBAN SIDEWALK REPAIR MAINTENANCE

Percent Of **Bid Type Bid Status** Rank Vendor **Total Bid** Low Bid CAPITAL ASPHALT INC 1 Responsive Winning bid \$483,325.00 100.00% 2 Responsive Non-Winning Bid HALE CONTRACTING, INC. \$562,380.00 116.36% 3 ROGAR MANAGEMENT & CONSULTING OF Responsive Non-Winning Bid \$767,531.00 158.80% FLORIDA LLC MIDWESTERN CONSTRUCTION, INC Non-Winning Bid Responsive \$854,350.00 176.77%

Responsive

Non-Winning Bid

NOTE: Failure to file a protest within the time prescribed in section 120.57(3). Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT

UPON BUDGET AVAILABILITY

MAXIMUM AMOUNT TO BE EXPENDED: \$500,000.00





Tabulation of Bids

Page 1 of 12

Letting: 03221117 November 17, 2022 **Call Order:** 001 **Contract**: E3W51-R0

District: District 3 Counties: DIST/ST-WIDE, LEON Fed Aid No: N/A

Contract Time: 12/31/23 COMPLETION DATE Project(s): 42378147205 (*)

Contract Descr: BDI PROJECT - URBAN SIDEWALK REPAIR MAINTENANCE

The work under this Work Document-driven Contract consists of night-time removal, replacement and/or repairs of driveways, sidewalks, detectable warnings, curbs, gutters, inlet tops, and manholes located in urban Leon County as described in the appendices. Other services required to achieve this work include Maintenance of Traffic, adjusting utility features (e.g., manhole rings, water meter boxes, valve risers, etc.), providing erosion control, borrow material or hot-mix asphalt, maintaining pedestrian and driveway access, sodding and watering disturbed areas. Coordinate work with owners of nearby affected utilities.

This Contract has a budgetary ceiling of \$500,000.00. Mobilization is incidental to other items listed.

BUSINESS DEVELOPMENT INITIATIVE — Bidders must be a Small Business as defined by

FDOT. Small business size standards can be found at https://www.fdot.gov/egualopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at

http://www.cmdp-bgp.com/bdi-projects.html Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit Form No. 275-000-01 for approval

prior to receipt of bid documents. The form may be accessed at:

https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit SBA form once per year.

Send a completed and notarized affidavit as an attachment to:

fdot.bdi@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department.

The subcontractor must also submit a notarized Small Business Affidavit Form provided by the

Department prior to the start of work. Bidders must submit the BDI Reference Sheet Form No. 275-000-02 with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code. Upload the completed BDI Reference Sheet Form No. 275-000-02 as a zip file using the File Attachment Upload folder in the AASHTOWARE Project

Bids application.

BDI Reference Sheet may be found at:

https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or

Proposal Bond Form No. 375-020-16, or the standard Bid or Proposal Bond

form. Form No. 375-020-09.

Line No / Item ID Alterna	ite Quantity Units	(1) CAPITAL ASPHALT INC (2) HALE CONTRACTING, INC. (3) ROGAR MANAGE CONSULTING OF		(2) HALE CONTRACTING, INC.			
() indicates item is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount



Page 2 of 12

Florida Department of Transportation



Tabulation of Bids

Letting:	0322111	7 Nove	ember 17,	2022 Ca l	l Order: 001		Contract:	E3W51-R0	
Line No Item Des		ternate (Quantity Units	(1) CAPITAL A	SPHALT INC	(2) HALE CONT	RACTING, INC.	CONSULTING	
	es item is bid as Lum	p Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
S	ECTION: 0001	(TRA	AFFIC CON	ITROL DEVICES (CONTROL (MH				
COMMERCI	02 3 IAL MATERIAL FO RY DRIVEWAY NCE	PR	10.000 CY	100.00000	1,000.00	10.00000	100.00	200.00000	2,000.00
0010 010 WORK ZON	02 60 IE SIGN	Ę	5,000.000 ED	3.00000	15,000.00	7.50000	37,500.00	1.00000	5,000.00
0015 010 BUSINESS	02 61 SIGN		10.000 EA	200.00000	2,000.00	10.00000	100.00	200.00000	2,000.00
	02 74 1 ZING DEVICE- TYF OR LCD		1,500.000 ED	1.50000	2,250.00	5.00000	7,500.00	2.00000	3,000.00
CHANNELIZ	02 74 8 ZING DEVICE- PEI ITUDINAL CHANN	DESTRIAN),000.000 FD	1.50000	15,000.00	2.50000	25,000.00	0.20000	2,000.00
	02 76 DARD / ADVANCE NEL	WARNING	50.000 ED	50.00000	2,500.00	50.00000	2,500.00	45.00000	2,250.00
	02 99 CHANGEABLE M PORARY	ESSAGE	10.000 ED	35.00000	350.00	25.00000	250.00	45.00000	450.00
TEMPORAF	02909 RY RAISED RUMB NCLUDES ALL SE DNS		10.000 DA	100.00000	1,000.00	1.00000	10.00	8,000.00000	80,000.00



Page 3 of 12

Florida Department of Transportation



Tabulation of Bids

Letting	g: 03	3221117	November 17,	2022 Ca	II Order: 001		Contract:	E3W51-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) CAPITAL	ASPHALT INC	(2) HALE CONT	RACTING, INC.	CONSULTING	
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount		_C Ext Amount
	SECTION:	0001	(TRAFFIC CON	ITROL DEVICES	CONTROL (MH				
	0104 1 CIAL COVERIN ON CONTROL		500.000 SY	3.00000	1,500.00	1.00000	500.00	20.00000	10,000.00
0050 SEDIME	0104 10 3 ENT BARRIER		200.000 LF	5.00000	1,000.00	2.00000	400.00	8.00000	1,600.00
0055 INLET F	0104 18 PROTECTION	SYSTEM	10.000 EA	150.00000	1,500.00	150.00000	1,500.00	400.00000	4,000.00
0060 REMOV	0110 4 10 AL OF EXISTI	NG CONCRET	1,600.000 E SY	50.00000	80,000.00	50.00000	80,000.00	36.00000	57,600.00
0065 BORRO MEASU	0120 2 2 W EXCAVATIONE	ON, TRUCK	30.000 CY	50.00000	1,500.00	50.00000	1,500.00	200.00000	6,000.00
0070 OPTION	0285706 NAL BASE, BA	SE GROUP 06	10.000 SY	100.00000	1,000.00	30.00000	300.00	100.00000	1,000.00
	0334 1 52 PAVE ASPHAI C B, PG76-22	_TIC CONCRE	10.000 TE, TN	250.00000	2,500.00	250.00000	2,500.00	800.0000	8,000.00
0080 MISCEL	0339 1 LANEOUS AS	PHALT PAVEN	10.000 MENT TN	200.00000	2,000.00	250.00000	2,500.00	800.0000	8,000.00
0085 MANHC	0425 5 DLE, ADJUST		10.000 EA	1,200.00000	12,000.00	3,000.00000	30,000.00	3,000.00000	30,000.00





Tabulation of Bids

Page 4 of 12

Letting: 03	3221117 N	lovember 17,	2022 Ca	II Order: 001		Contract:	E3W51-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) CAPITAL A	SPHALT INC	(2) HALE CONT	RACTING, INC.	(3) ROGAR MA CONSULTING	OF FLORIDA
() indicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
SECTION:	0001	(TRAFFIC CON	ITROL DEVICES	CONTROL (MH				
0090 0425 6 VALVE BOXES, ADJU	JST	10.000 EA	800.00000	8,000.00	850.00000	8,500.00	1,500.00000	15,000.00
0095 0425 15 43 INLET TOP, REPAIR, WALKING SURFACE		10.000 EA	3,200.00000	32,000.00	1,500.00000	15,000.00	4,500.00000	45,000.00
0100 0425 15 44 INLET TOP, REPAIR, FACE ONLY	CURB INLET- C	25.000 URB EA	1,500.00000	37,500.00	750.00000	18,750.00	4,500.00000	112,500.00
0105 0515 1 2 PIPE HANDRAIL - GU ALUMINUM	IIDERAIL,	10.000 LF	110.00000	1,100.00	150.00000	1,500.00	400.00000	4,000.00
0110 0515 1 41 PIPE HANDRAIL - GU RELOCATE, STEEL	IIDERAIL,	10.000 LF	55.00000	550.00	80.00000	800.00	300.00000	3,000.00
0115 0515 1 42 PIPE HANDRAIL - GU RELOCATE, ALUMINI		10.000 LF	55.00000	550.00	80.00000	800.00	300.00000	3,000.00
0120 0515 2311 PEDESTRIAN/ BICYC ALUMINUM ONLY,42'		10.000 LF	220.00000	2,200.00	150.00000	1,500.00	500.00000	5,000.00
0125 0515 2500 PEDESTRIAN / BICYC RELOCATE	CLE RAILING,	10.000 LF	82.50000	825.00	50.00000	500.00	400.00000	4,000.00
0130 0520 1 7 CONCRETE CURB &	GUTTER, TYPE	10.000 EE LF	100.00000	1,000.00	50.00000	500.00	100.00000	1,000.00





Tabulation of Bids

Page 5 of 12

Letting	g: 03	3221117	November 17,	2022 C a	II Order: 001		Contract:	E3W51-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) CAPITAL	ASPHALT INC	(2) HALE CONT	RACTING, INC.	(3) ROGAR MA CONSULTING	OF FLORIDA
() ind	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount		.C Ext Amount
	SECTION:	0001	(TRAFFIC CON	ITROL DEVICES	CONTROL (MH				
0135 CONCR	0520 1 10 ETE CURB &	GUTTER, TYPE	300.000 EF LF	40.00000	12,000.00	100.00000	30,000.00	125.00000	37,500.00
0140 VALLEY	0520 3 GUTTER-CC	ONCRETE	10.000 LF	100.00000	1,000.00	50.00000	500.00	145.00000	1,450.00
	0522 1 ETE SIDEWAI VAYS, 4" THIC		1,200.000 SY	100.00000	120,000.00	150.00000	180,000.00	129.61000	155,532.00
	0522 2 ETE SIDEWAI VAYS, 6" THIC		400.000 SY	135.00000	54,000.00	100.00000	40,000.00	149.61000	59,844.00
0155 DETECT	0527 2 FABLE WARN	INGS	500.000 SF	30.00000	15,000.00	40.00000	20,000.00	36.00000	18,000.00
0160 OFF-DU OFFICE	E102 10 ITY LAW ENFO R	ORCEMENT	100.000 MH	55.00000	5,500.00	50.00000	5,000.00	115.00000	11,500.00
0165 MOT MA	E102100 AINTENANCE	SERVICES	200.000 HR	220.00000	44,000.00	200.00000	40,000.00	265.00000	53,000.00
0170 REMOV	E110 70 AL OF FLEXIE	BLE PAVEMEN	10.000 F SY	100.00000	1,000.00	10.00000	100.00	100.00000	1,000.00
0175 MANHO	E425 73 7 LE FRAME &	COVER	1.000 EA	1,500.00000	1,500.00	3,000.00000	3,000.00	4,000.00000	4,000.00





Tabulation of Bids

Page 6 of 12

Letting:	03221117	November 17,	2022 Ca	II Order: 001		Contract:	E3W51-R0	
Line No / Item Item Descript		e Quantity Units	(1) CAPITAL A	ASPHALT INC	(2) HALE CONT	RACTING, INC.	CONSULTING	ANAGEMENT & G OF FLORIDA
·	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION	ON: 0001	(TRAFFIC CON	ITROL DEVICES (CONTROL (MH				
0180 E570 9 WATER FOR GR		1.000 MG	1,000.00000	1,000.00	20.00000	20.00	2,000.00000	2,000.00
0185 E575 1 SODDING		500.000 SY	5.00000	2,500.00	7.50000	3,750.00	16.61000	8,305.00
	FFIC CONTROL S CONTROL (MH)	Section Totals:		\$483,325.00		\$562,380.00		\$767,531.00
	Contract G	rand Totals:		\$483,325.00		\$562,380.00		767,531.00



Page 7 of 12

Florida Department of Transportation



Tabulation of Bids

Letting:	03221117	November 17,	2022 Cal	l Order: 001		Contract:	E3W51-R0	
Line No		e Quantity Units	(4) MIDWI CONSTRUC		(5) AJ GE CONSTRUCTIO	N SERVICES,		
	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	(TRAFFIC CON	TROL DEVICES O	CONTROL (MH				
COMMERCI	02 3 IAL MATERIAL FOR RY DRIVEWAY NCE	10.000 CY	100.00000	1,000.00	125.00000	1,250.00		
0010 010 WORK ZON	02 60 IE SIGN	5,000.000 ED	1.00000	5,000.00	1.00000	5,000.00		
0015 010 BUSINESS	02 61 SIGN	10.000 EA	2,000.00000	20,000.00	350.00000	3,500.00		
	02 74 1 ZING DEVICE- TYPES I, OR LCD	1,500.000 II, DI, ED	1.00000	1,500.00	1.00000	1,500.00		
CHANNELIZ	02 74 8 ZING DEVICE- PEDEST ITUDINAL CHANNELIZI		5.00000	50,000.00	0.50000	5,000.00		
	02 76 DARD / ADVANCE WARI NEL	50.000 NING ED	15.00000	750.00	35,00000	1,750.00		
	02 99 CHANGEABLE MESSA PORARY	10.000 GE ED	20.00000	200.00	75.00000	750.00		
TEMPORAR	02909 RY RAISED RUMBLE ST NCLUDES ALL SETS A DNS		1,000.00000	10,000.00	40.00000	400.00		





Tabulation of Bids

Page 8 of 12

Letting:	032	221117	November 17,	2022 Ca	II Order: 001		Contract:	E3W51-R0	
	lo / Item ID Description	Alternate	Quantity Units	(4) MIDW CONSTRUC		(5) AJ GE CONSTRUCTIO	N SERVICES,		
() indica	ates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TRAFFIC CON	ITROL DEVICES	CONTROL (MH				
ARTIFICIA	0104 1 AL COVERING I CONTROL P		500.000 SY	5.00000	2,500.00	7.00000	3,500.00		
	0104 10 3 IT BARRIER		200.000 LF	3.00000	600.00	15.00000	3,000.00		
	0104 18 OTECTION S	YSTEM	10.000 EA	300.00000	3,000.00	200.00000	2,000.00		
	0110 4 10 L OF EXISTIN	G CONCRET	1,600.000 E SY	65.00000	104,000.00	35.00000	56,000.00		
	0120 2 2 /EXCAVATIO E	N, TRUCK	30.000 CY	65.00000	1,950.00	75.00000	2,250.00		
	0285706 LL BASE, BAS	E GROUP 06	10.000 SY	100.00000	1,000.00	135.00000	1,350.00		
SUPERPA	0334 1 52 AVE ASPHALT B, PG76-22	TIC CONCRET	10.000 E, TN	1,000.00000	10,000.00	495.00000	4,950.00		
	0339 1 ANEOUS ASP	'HALT PAVEM	10.000 IENT TN	1,000.00000	10,000.00	492.00000	4,920.00		
	0425 5 E, ADJUST		10.000 EA	3,000.00000	30,000.00	3,500.00000	35,000.00		





Tabulation of Bids

Page 9 of 12

Letting	j: 0:	3221117	November 17,	2022 Ca	II Order: 001		Contract:	E3W51-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) MIDW CONSTRUC		(5) AJ GE CONSTRUCTIO	N SERVICES,		
() ind	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TRAFFIC CON	ITROL DEVICES	CONTROL (MH				
0090 VALVE E	0425 6 BOXES, ADJU	JST	10.000 EA	2,500.00000	25,000.00	1,200.00000	12,000.00		
	0425 15 43 OP, REPAIR, G SURFACE	CURB INLET- ONLY	10.000 EA	4,500.00000	45,000.00	2,600.00000	26,000.00		
0100 INLET TO FACE O		CURB INLET-	25.000 CURB EA	10,000.00000	250,000.00	4,450.00000	111,250.00		
0105 PIPE HA ALUMIN	0515 1 2 NDRAIL - GU UM	IIDERAIL,	10.000 LF	200.00000	2,000.00	150.00000	1,500.00		
	0515 1 41 NDRAIL - GU ATE, STEEL	IIDERAIL,	10.000 LF	175.00000	1,750.00	125.00000	1,250.00		
	0515 1 42 NDRAIL - GU ATE, ALUMINI		10.000 LF	175.00000	1,750.00	125.00000	1,250.00		
	0515 2311 TRIAN/ BICYC UM ONLY,42'		10.000 LF	225.00000	2,250.00	145.00000	1,450.00		
0125 PEDEST RELOCA		CLE RAILING,	10.000 LF	150.00000	1,500.00	125.00000	1,250.00		
0130 CONCRI	0520 1 7 ETE CURB &	GUTTER, TYP	10.000 PEE LF	150.00000	1,500.00	225.00000	2,250.00		





Tabulation of Bids

Page 10 of 12

Letting:	0322111	7 Nov	ember 17,	2022 Ca l	ll Order: 001		Contract:	E3W51-R0	
	o / Item ID A	Iternate	Quantity Units	(4) MIDW CONSTRUC		(5) AJ GE CONSTRUCTIO	N SERVICES,		
	tes item is bid as Lun	np Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
\$	SECTION: 0001	(TR	RAFFIC CON	ITROL DEVICES (CONTROL (MH				
	520 1 10 E CURB & GUTTE	R, TYPE F	300.000 LF	150.00000	45,000.00	225.00000	67,500.00		
	520 3 UTTER- CONCRE	TE	10.000 LF	150.00000	1,500.00	225.00000	2,250.00		
CONCRET	522 1 E SIDEWALK AND YS, 4" THICK)	1,200.000 SY	85.00000	102,000.00	390.00000	468,000.00		
CONCRET	522 2 E SIDEWALK AND YS, 6" THICK)	400.000 SY	125.00000	50,000.00	400.00000	160,000.00		
	527 2 BLE WARNINGS		500.000 SF	30.00000	15,000.00	35.00000	17,500.00		
	102 10 / LAW ENFORCEM	MENT	100.000 MH	100.00000	10,000.00	99.00000	9,900.00		
	102100 ITENANCE SERVI	CES	200.000 HR	200.00000	40,000.00	400.00000	80,000.00		
	110 70 . OF FLEXIBLE PA	VEMENT	10.000 SY	50.00000	500.00	126.00000	1,260.00		
	425 73 7 FRAME & COVEF	₹	1.000 EA	5,000.00000	5,000.00	3,250.00000	3,250.00		





Tabulation of Bids

Page 11 of 12

Letting:	03221117	November 17,	2022 Ca	II Order: 001		Contract:	E3W51-R0	
Line No / It		nate Quantity Units	(4) MIDWESTERN CONSTRUCTION, INC		(5) AJ GENERAL CONSTRUCTION SERVICES,			
	item is bid as Lump S	um	Unit Price	Ext Amount	Unit Price	C. Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(TRAFFIC CON	ITROL DEVICES	CONTROL (MH				
0180 E570 WATER FOR	9 1 GRASS & PLANTS	1.000 MG	100.00000	100.00	0.01000	0.01		
0185 E575 SODDING	1	500.000 SY	6.00000	3,000.00	40.00000	20,000.00		
	RAFFIC CONTRO ES CONTROL (MH			\$854,350.00		\$1,119,980.01		
	Contrac	t Grand Totals:		\$854,350.00		\$1,119,980.01		



11/30/2022

Tabulation of Bids

Page 12 of 12

Letting: 03221117

November 17, 2022

Call Order: 001

Contract:

E3W51-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.